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. BAIRE—EREF , SHMIBINRN , HiHR %
RERItEZ=0 def sumOfN(n):
MAEInfE3R, #AEMERHEE thesum = 0

for i in range(1, n + 1):
BLEEAEE theSum = theSum + i

return theSum
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A SRR AR5 AR fred = 0 1 tom e 1)
*g EBALR % M2 A TF s or b:aLrne;n=rgri]%? p tom + 1):
% « X E fred = fred + barney
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return fred

, BEZEE

print(foo(10))
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*/] 2 . SSLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SSLBuffer signedPa
4 3 uint8_t *signature, UIntlé signaturelLen)
= ) ERATMH—MERBuUg
Q \A.. > - > A > S ? T
'$ laE‘SQSSLJE«‘E-EQ‘Lﬂ:—Z‘K@&Ji 8 if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != @)
% 9 goto fail;
C 10 if = SSLHashSHA1l.update(&hashCt &si dp =0
S 2014.2.2214 £1057.0.6 2] e SRRt ey BeagpekaED) 1% o)
> goto fail;
@) 13 if ((err = SSLHashSHAl.final(&hashCtx, &hashout)) != @)
S \_,_ 14 goto fail;
N > *{%Ei*ﬂﬂ** 15 err = sslRawVerify(ctx,
16 ctx->peerPubKey,
17 dataToSign, /* plaintext */
18 dataToSignLen, /* plaintext length */
ﬁﬁ Fﬁ *¥ 19 signature,
1 if ( ) . signaturelLen);
* s 0 0 0 21 1 err
2 return X :: slerror‘Log(:SSLDecodeSignﬁdSe(‘ver‘KeyExchange: sslRawverify "
i f ( ) 23 returned %d\n", (int)err);
3 1 cecscs 24 goto fail;
4 return y; }
5 if (ool ) ;: fail:
[ foo( ) 5 28 SSLFreeBuffer(&signedHashes); I
29 SSLFreeBuffer(&hashCtx);
7 { return Z, 30 return err;
~a }
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>>> help(time.time)
Help on built-in function time in module time:

WESRER ..,

time() -> floating point number

; m}zmyg-ﬁ-giﬁﬂg ? Return the current time in seconds since the Epoch.

Fractions of a second may be present if the systdyg
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>>> import time
>>> time.time()
1488738563.305619
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‘_'_Hjlﬂ*ém] 1 import time
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8 BikHEFANSTRIERGN 4 def sumOfN2(n): |
e 58 o T 35 BT 5 start = time.time()
§§ T &EBAT 6 theSum = 0
4 o 2 35 5 — A 7.4 7 for i in range(1, n + 1):
3 —/~LAtuple ’
5 SES ! up 8 theSum = theSum + 1
% QIERE A, UREZBITHE (F) 9 end = time.time()
i% 10 return theSum, end - start -
Soffm e 11
= ) EREEOESETSREE
< 1%]10,000 £ A= 13 for i in range(5): 1
~ _ 14 rint("Sum is %d required %10.7f seconds"
FRIBAT4F0.00074) 15 Pt age s e z

% sum0fN2(10000)) 7~

Sum is 50005000 required 0.0007980 seconds
Sum is 50005000 required 0.0007021 seconds
Sum is 50005000 required 0.0007031 seconds
Sum 1is 50005000 required 0.0007219 seconds
Sum 1is 50005000 required 0.0007060 seconds
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i% F A RIBATH 1] 3 /2 2] 10, 000891043
13 for i in range(5):
14 print("Sum 1is %d required %10.7f seconds"” % sumOfN2(100000))

Sum is 5000050000 required ©0.0078530 seconds
Sum is 5000050000 required 0.0078511 seconds
Sum is 5000050000 required ©0.0087960 seconds
Sum is 5000050000 required ©0.0082700 seconds
Sum is 5000050000 required ©0.0077040 seconds
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13 for i in range(5):

14 print("Sum is %d required %10.7f seconds" % sum0OfN2(1000000))
Sum is 500000500000 required 0.0817859 seconds
Sum is 500000500000 required 0.0781529 seconds
Sum is 500000500000 required 0.0803380 seconds

S Sum is 500000500000 required 0.0783160 seconds

ERRTA S BRI A20T gy is 500000500000 required 0.0776238 seconds
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Sum
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def sumOfN3(n):
start = time.time()
theSum = (n x (n + 1)) / 2
end = time.time()
return theSum, end - start

50005000 required 0.0000010 seconds
5000050000 required 0.0000000 seconds
500000500000 required 0.0000010 seconds
50000005000000 required 0.0000000 seconds
5000000050000000 required 0.0000169 seconds
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= 4] Fe AR IE 4], WIEHIRAUA T WA RALIE S R, R, ;é

> ﬁ*ﬁS“mOmemﬁt‘EEﬁjﬂE 31 def sumOfN(n): |
AT CEAARR 32 = theSum = 0
Miﬁi%@ﬁ%un):un 33 = for i in range(l, n + 1): t
34 = theSum = theSum + 1

35 return theSum
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S ) #EEHOM) M o foridnrange(n):
= - — 42 | for j in range(n):
3 ~ 43 | X =1 % 1 18
” 44 y = j * ] 77
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1 def anagramSolutionl(sl, s2):
" 2 glist = 1ist(s2)
2 ; pos1 = ¢ ERS LGS FHI
2% 4 stillOK = True
ﬁa 5 while posl < len(sl) and stillOK:
5 6 pos2 = 0
=) 7 found = False TES25ZFRZFNTEL
P 8 while pos2 < len(alist) and not found:
9 if sl[posl] == alist[pos2]:
10 found = True
11 else:

3
>
o
S
~

12 pos2 = pos2 + 1
13 if found: m
14 alist[pos2] = None
16 stillOK = False

Z

17 posl = posl + 1

18 return stillOK

19

20

21 print(anagramSolutionl(‘'abcd', ‘dcbha‘))
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def anagramSolution2(sl, s2):

§& 2 alistl = list(s1)
ﬁ% 3 alist2 = list(s2)
3 4 AN ~
*\g 5 alistl.sort() 7 BIEEHF
=) 6 alist2.sort()
ZS 7 pos = 0
D 8 matches = True m
8 9 while pos < len(sl) and matches: -
S 10 if alistl[pos] == alist2[pos]: —
\—
11 pos = pos + 1 :E:
12 else: ’"
13 matches = False
14 return matches
15
16

17 print(anagramSolution2('abcde’, 'edcbha'))
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HEREAZEO(N?)IZEFO(N log n) , KiZTEHFAIO(N)

MUK ZPREREREBNSrREHIFELS R
 PRIZMNSITHRSERMEFTHEFIIERHNEZERO(n log n)

N

N

BT oS ‘

( uoyifg)

Z

bR K FHIR G = A AF F R/ R /2017



i#i%3 : BHik
RNEMEBES : FEFAETEAS

WFEARIEERIR , ROZROZE , BFEFHR1IPLMYFEHITEH |,
BEEFTR2ESHIMERHSIFIFRR

XERANEME~EFHFHR1IMEFENSHT | iRIBASHFAEE | 1
R FHHR1T2HT | B TIEERFHRANEAN!

 EIIExnpBigKiEEEEEI 2"
Blde, 3tF20NFHKEGBERB, ¥F*420!=2,432,902,008,176,640,000 /ME it id

dm R A AP AL T —AMER IR, E£77,146,816,5965F (BAL) #BtiE R T EFA T
Bl,

iR : FAOERECHAEBERNTEE

E KRFHIR G = A5 512/ % K/2017

N

BT oS ‘

( uoyifg)

Z



B#iE4 | iTEIEEER

EE— 1NEEFREIRA . WM EFERS/NFEHMANREL , (1R26
MNFEHIMAREEMERENE | XA FTERR—EEX{d

B : HEATTRSE— 26T EE , AES M TEE , mi
WSS A IR

y TTEIERE  BALLEMER , EBRNFRAENTSEESEE |, NEERN
?&EMHGM%Q

N

BT oS ‘

( uoyifg)

Z

E KRFHIR G = A5 512/ % K/2017



-y
TS

2

DHABITE

3
>
o
S
~

B4 AR -TE R

OCOoOO~NOOULE WN =

20

def anagramSolution4(sl, s2):
cl = [0] x 26
c2 = [0] *x 26
for i in range(len(sl)):

pos = ord(s1[i]) - ord('a")

cl[pos] = cl[pos] + 1
for i in range(len(s2)):

pos = ord(s2[i]) - ord('a")

c2[pos] = c2[pos] + 1
] =0
stillOK = True
while j < 26 and stillOK:
if cl[j] == c2[jl:
l.=.1.+.1
else:
stillOK = False
return stillOK

print(anagramSolution4('apple’
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i§ A. O(n) B. 0(n*2) C. O(log n) D. O(n3)
EQ test = 0

S ) (2]-: for i in range(n):

N

for j in range(n):
test = test + 1 * j

; QZ test = 0

for i in range(n):
test = test + 1
for j in range(n):
test = test - 1

3
>
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S
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i1=n

y Q3 : while i > o:
k =2 + 2
i=1i//2
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RIEBEN T T "KORFE" MBI ARBNEEAFE
THEEITIETFPython A EEIRSHE LS MME(ERIXOH =R

& Listf=F #Dictionary
XRAFEZ0Python#ELEH, EEWRLESARENEFHHIELE
B BT RERA LB FRENESITHARER

N

BT oS ‘

( uoyify)

y XJEEList#IDictionary

IR RN TR RN

ws memm Gy ET e S e e
X : remove* a[i:j] count(v) sort

insert
: ANmJansE ~ _ b[k] has_key
dict AfE L b[k]=v pop b[k]=v copy 7C update
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ListEREESTIR(E (interface ) BISCMAEBRS | MAEEREE]
IRFRsEIR TS i ?

SBHEEMNRE | iLREHRMFIEERY |, EARXEBIMHRE
80/20/E N : 80%49 %) 8t H1% B F R A 20%

FAIRE—LLE BRILIsUR(E
EHANE : HESIBEHMEE (v= a[il, ali]= v)
T 7 & A9 REALIT R AR, EAARAEBSTR A 5P R K DEE, #H0(1)

S—1E2IFIBEK , AJLliEiFappend()F1_add_ ()
1st.append(v), #ATHIE]A0(1)

1st= 1st+ [v], #ATHEIRO(n+k), HFPkEAEMHIEKE
L ke R bk ik, B TAE RGP
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AFRERKBIN N EZTIRIIGE

SB—HMREERRAENERTIR (+) BNER
ZAleEMappend ()RR TTREER

X,
S
N

ﬁ_ﬁ' 5

2

TS

% y EERYIFRESIV (List Comprehension ) &l

/ def testl():

S mRERrangeFHEERERTIE L ange (1660)
S 1 =1+ [i]

S

def test2():

1=1]
for i in range(1000):
1.append(i)

. . def test3():
5”%]:&.%5& 1l =1T[i for 1 in range(1000)]

def test4():
5”37‘3? k-?éi’@ffi—l%E‘Jﬂﬁ%‘%é%é[{fa/ﬁiﬁﬁ\/zo17 l - 1ist ( r\ange(leee) )
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{EHtimeitiERYI EFJ £ 10T

§y » WFSANRAEGIRITHIE , timeitiRRIZH T —H7E—EBNEITIRIR T
%E AILARSE Ao H)

4

'§; y timeitiHASE9ER T E

% ﬁ%ﬁd}%*/\ﬁmeriﬂ‘% EEZRANESRK, F—NREZRIEBITHNEY, FANRATE
D FETRERREBEBIT KN “REiEG”

3 ﬁ%éiﬁﬁliifn\ﬂ%@timeitif%, AP TAKR R EIEBITS TR, HHEEBERE AL HE
3 A% &9 B 18] from timeit import Timer

tl= Timer("test1()", "from __main__ import testl")
print "concat %f seconds\n" % tl.timeit(number= 1000)

Z

t2= Timer("test2()", "from __main__ import test2")
print "append %f seconds\n" % t2.timeit(number= 1000)

t3= Timer("test3()", "from __main__ import test3")
print "comprehension %f seconds\n" % t3.timeit(number= 1000)

T K PRI 5 A T/ Tk /2017 t4= Timer("test4()", "from __main__ import test4")
print "list range %f seconds\n" % t4.timeit(number= 1000)
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» ERAIER , MR ZREITHEESIRX
7 %#%4# (concat) &M, List range&tk, R E 4 £ 0200/
appendt. &b concat /3 %
%9, BAVEER|F| R EF XRE ZappendBIE AT

X
S

G

TS

g

P

N ) L8R, MBEFMSIT , TSR, DA T BEIRIBEEEN , FZ

S e IEERZURE FARIAIEERA. >>> |

— 1e % 5 18 F) 24K 89 B 18] & F 3K concat 1.889487 seconds Z
AT AR TR/ RA L r

append 0.091561 seconds
F AN i B 18] 88 R 47 ok KR ) B 1)

comprehension 0.038418 seconds

list range 0.009710 seconds
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ListBME(ERIKXOLNELR

y BAISES R popIXMEE
pop()ARF|E REAAERTH, 0(1)

pop(i)AFI & FHAE®RAE, 0(n)

[RE{ETFPythonFhiEiFRILINE

MR AEYNE, ERBEALEEH
B9 L& A3 = AT FRAL B H —ik
XANFARARA &R
BEBFENERMNESEINIMHEAT XS
PRIE D & 5 % 5| BALF AR B BRAE AR PR,
X2 0(1)

XU H R F AR E ARES
WRFTE

T K F MR = A A2/ K /2017

Operation
index []
index assignment
append
POp()

Pop(i)
insert(i,item)
del operator
iteration
contains (in)
get slice [xy]
del slice

set slice
reverse
concatenate
sort

multiply

Big-O Efficiency
o(1)
o(1)
o(1)
o(1)
O(n)

o(n)

O(n

O(n

)
)
)
o(k)
o(n)
O(n+k)
o(n)
o(k)
O(n log n)

O(nk)

Z



list.popAYitAdiztiE

oy A TIIERPRIXONER , HIEAMIER TAIpopRIERERITRIXIEL

§ , HEXIRE— A list , SRIEBpop(#Hpop(0)

4

§; » HXNARRXRDMlistifitASRE | FAIHIERSERRE

P pop( ) By BFE] REElist K T4k, pop(Q)&gErm M AlistE RAmEK

S o

< e >>> x = list(range(2000000))

%  BRHIIEXLE >>> popzero.timeit(number=1000)

o sMTFRE2H T %, #iTieeek 0.7688910461739789 —
pop () B I 2 0. 00074 >>> x = list(range(2000000)) Z

‘ >>> popend.timeit(number=1000) 7‘

pop(@) ¥ Fl % 0.8% 0.0007347123802041722
18 £ 10004%

import timeilt
popzero = timeit.Timer("x.pop(©)", "from _main__ import x")
popend = timeit.Timer("x.pop()", "from main__ import x")

bR K FHIR G = A A S F R/ R /2017



list.popAYitAdiztiE

08 BihEI T FIRAIAR DKM X MR(EANIEIKES
E import timeit
$§ popzero = timeit.Timer("x.pop(©)", "from _main__ import x")
5 popend = timeit.Timer("x.pop()", "from main__ import x")
5 print "pop(@)  pop()” .
2 for i in range(1000000,100000001,1000000) : op(8)  pop()
D x = list(range(i)) 9.23149, 0.00078
= pt = popend.timeit(number=1000) 0.68661, 0.00020
% x = list(range(i)) 1.43575, 0.00045 E_J
— pz = popzero.timeit(number=1000) 2.00506, 0.00027 z
print "%15.5f, %15.5f" %(pz,pt) 2.71711, ©.00032 ’.
3.32652, 0.00030
4.03600, 0.00032
4.56179, 0.00026
5.17211, 0.00034
5.75793, 0.00025
6.28499, 0.00028
6.63129, 0.00033
AT K R 5 AL S IR/ T K /2017 EE AL ARADT



list.popAYitAdiztiE

BTG EUEERKERR , JLAFHIgKEE
pop ()= -F3 ey % K 2T .

250

-y
TS

T

]
*\g pop(0) & & Pk 3 K 644 % - .
% A popl) 2 .. .-.

S

» HAENRERESH g™

D . o s -
< AabeaAg : R
= ?‘? 150 t ot . »
g 'ﬁhﬁ’\ ‘5 )ﬂ % ‘% * -"' e
— E '
E « o". z
E 100 e ..n‘. r
E :.l'...
...'.
50t o0
-".. |
".
o** |
w—'
% 20,000,000 40,000,000 60,000,000 90,000,000

TE KFHIR G = WA 1%/ 5K/2017 List Size



DictionaryZiE45t4

y FHES5IRAR , SAULMRIEXER (key ) RRFNEURIN , M7IEREIR:
(8 (index ) RIXFUZHEIR

» EHRESNTAFHINHARSEINGE

y Exep FHAYEY{Eget itemFlli{Eset itemiE(E , Hi¥EEHO(1)

=

M%WE%%%‘

8
S
3 ) BANEERERANFHRPREFEENKED (key ) , XMERERE r
— 0(1) operation Big-O Efficiency Z
. . co O(n)
) RUTRERTIEERS K o 2
set/get/contains -> 0(n)
set item O(1)
6 @ IRAZBE 2] R LAY RHE 29 AT solete fom o)
contains (in) O(1)

TE RFHIR G = A 2/ R /2017 iteration O(n)



ListflDictionaryfJini#{EXILL

R MEREERISEList P E—1ME , LARDictionary i@ ZE—1ME
AOLTHASRILL
AR — N2 EEZEYListh— /e 2& % X #AKey®Dictionary
R B RAE, RABR—AHMERF in XA,
import timeit
import random

-y
TS

2

DHABITE

3
>
o
S
~

for i in range(10000,1000001,20000):

t = timeit.Timer("random.randrange(%d) in x"%i,
"from _ _main__ import random,x")

x = list(range(i))
lst _time = t.timeit(number=1000)
X = {j:None for j in range(i)}
d time = t.timeit(number=1000)
orint("%d,%10.3f,%10.3f" % (i, lst time, d_time))

Z

bR K FHIR G = A AF F R/ R /2017
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DHABITE
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ListflDictionaryfJini#{EXILL

N

N

PythonELHIEZSERE RS

https://wiki.python.org/moin/TimeComplexity

N

A Dictiona

L]
.
I YOV EUOS USSR S U OSSOSO SO SO O S Y
0 100,000 200,000 300,000 400,000 500,000 600,000 700,000 800,000 1,000,000

R K FHIR G = WA F R/ R/2017

a WFHPRITIIR S FHMMEXNTEX , EFEH
mZIRAIMATRIEINIBEE SRR KT £ L H Python

10000,
30000,

50000,

70000,

90000,

110000,
130000,
150000,
170000,
190000,
210000,
230000,
250000,
270000,
290000,
310000,

0.062,
9.189,
9.329,
0.440,
9.582,

NRPRPRRPRRPRPRPOOO®

.710,
.840,
.951,
.077,
.227,
.377,
.499,
.618,
.738,
.892,
.055,

0.001
0.001
0.001
0.001
0.001
.001
.001
.001
.001
.001
.001
.001
.001
.001
.001
.001

OO OO OO0

Z



fE=E{EIk2-3

;ﬁé y Q4 FEIALisHRIEARZEO(1)? » Q5 : TEMMNFHIFEZO0(1) ?

% a) list.pop(@) a) 'x' in mydict

% b) list.pop() b) del mydict['x"]

?}i ¢) list.append() ¢) mydict['x'] == 10

3 d) list[1e] d) mydict['x']= mydict['x']+ 1
e) LALERZE 0(1) e) LAL#EBZE 0(1)

y MIEARSchbpkufliRiEMitH
EEIRRZAO ( EEEIL2-3)

TR F MR F A4 FF 2/ %5K/2017
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Python:VeliE : 35347534

. PythonSRBNEMIEE. FEFIRERD , TUBERRIXEHR
print a, TAERBLRE AR LA T ENFHEH X

del a, TuA4i% st %a; del 1st[2], TRABMERIN A EINTE
len(a), E®WF| &, LARFRHEAATEMOSLEYANK
int(a),float(a), ##FLEHK. FEK. FHEAHAERKRIF LK
a+b, TRBEEH A, FEKFf, FHENEE, FR0EE
a*b, TABEEHFMR, FEKER, FHELTEL. FEANTL

 XEGER. EHMANR(ES  REFEEILIRFRPBENXRISR
R EWE D BRARER, BRZAPARLMGE, 25EHLERR?

tode ZAZ X T —4~%Color, #print—/A-ColorstH 4 A L2 HAColorst £ ayimik
, BRELH?

X
S

G

DHABITE

3
>
o
S
~

Z
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Python:VeliE : 35347534

' PythoniBfit T —LsRris . RILEE XX MAHAR ERMAEISE. B
%&*I]EE"EH ) asde1c _initJ_(seif, r, g, b):

X,
S

T

o

v self.value= (r, g, b)
5 if (r, g, b)== (255,0,0):
§§ self.name= "red”
P >>> a= Color(255, 0, 0) elif (r, g, b)== (@, 255, 0):
= >>> b= Color(@, 255, 0) self.name= "green"
S >>> a elif (r, g, b)== (255, 255, 0):
Ef red self.name= "yellow”
3 >>> b else: —
— green self.name= "N/A" z
>>> a+h (e |- _add_ (self, b): ’.
yellow return Color(self.value[@]+ b.value[©0], \
>>> c= Color(128, o, 0) self.value[1]+ b.value[1], \
>>> C self.value[2]+ b.value[2])
CO]-OP(]-ZSJQJQ) def _str‘_(sel'F) .
>>> print a, b, ¢ % it self.namel!l= "N/A":
red green Color(128,0,0) return self.name
>>> str(c) else:
‘Color(128,0,0)" return "Color(%d,%d,%d)" % self.value

FRFHRREZTSSS repr__ = stp




Python/villiR : fRIR

y  PythonfE (MBS R 29 . BBREZSEWMA Internet#EXAE (email% AL E)
RIINBERIEELEE , #RAmodulei®iR , Python Interneti@ R4 = (HTTP,SMTP,POP, %

X,
S

i3

42

*"3 E:ﬁgﬁiﬁ?ﬁg #Server)
g YR AR AR SHARELRE (FM. BER)
fi BRI S5 HF R K Rl
3 X5 B KT TRATAL A K2 |
S B H AL B R P R&ETk P
- HAR R 5 5 44 FEIL Z
£ FH X LHRE (csve ini%) AR BN
e B 4672 BT L R
WtF R RREIRT Pythonizd /73R 3% MR 4
AL P A P 2 Python R AT Fe iz 47
XL AR B Bk AR AR % A £ 01

bR K FHIR G = A AF F R/ R /2017



Python/VAlliR : RIR

. EFEXESRIMLE , RESEMimportiENSAMER ( XHUGESER
EginCIUde ) - import shelve

- d = shelve.open(filename) # open -- file may get suffix added by low-level
# library

store data at key (overwrites old data if

using an existing key)

retrieve a COPY of data at key (raise KeyError if no

such key)

delete data stored at key (raises KeyError

if no such key)

flag = d.has_key(key) # true if the key exists

klist = d.keys() # a list of all existing keys (slow!)

-y
TS

T

vl

MRJTE:

d[key] = data

~7

D

data = d[key]

del d[key]

H H HHHH

3
>
o
S
~

Z

# having opened d without writeback=True, you need to code carefully:

temp = d[ "xx'] # extracts the copy
temp.append(5) # mutates the copy
dl "xx"] = temp # stores the copy right back, to persist it

# or, d=shelve.open(filename,writeback=True) would let you just code
# d['xx'].append(5) and have it work as expected, BUT it would also
# consume more memory and make the d.close() operation slower.

LT K R G o WA 12/ TR /2017 d.close() # close it



Python/villiR : fRIR
, importiBIIR T SAEIR , EHEFSIATHMNESFER

import time

time.time()

HFZRZ5 | S MRIREILIEE | BRIERIRRARA F R LB

import timeit

M%WE%%%‘

N

t= timeit.Timer.timeit(....)

» BJEABfrom ... import ... REIEBERRIELEE 2 SA SRt

from timeit import Timer
t= Timer(....)
IRZAETRFABNLENFLZEANGFTRAENE, ZHIRBATR

( uoyify)

Z
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Python/©ViliR : BRESEL

»  pythonBISEFIRAILLIRBERE S RE(E
def func(a, b= 0, c= "abc")
func(2)
func(2, 4)

func(2, 4, "xyz")
func(2, c= "xyz"): FRIGHEHKRKASAEE, §E2BUE 05K LR

TR F MR F A4 FF 2/ %5K/2017
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Python/Jvillif : IDLERY{ERS

IDLES A3 E&iEShell , Fl14RiE3EEditor
A%mias=RKamiEpythoniEX (¥ , BAHRuUn->Run Module3iz17

EITHEREEREREEIRShellBE , RBRILATEShel | B E4ELERE N
Lo SFIEIBBITERE

N

N

]|

AR s ‘

( uoyify)

Z

bR K FHIR G = A AF F R/ R /2017
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KT SMREERE
RIA L, AARLBBORH, A LKL DB

AR EBARAXERIEE, PR AFirefox#) %
ABRIBAGIREA: REBKR, BRANGTH
y RFHBELEN

B 2] 3 PythonteAi + 4 ARG R ¥, LALLM RIXT LML R S, B=TFT A
ol Foh B A

BB % BME LA, RRBERFREES R
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